| Efficiency vs Dxy |

> 0.0]
<

D.007F
© -

........................................................................

........................................................................

0.5

0 R A VN

ET56-15-10 =50 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original-0

[ Efficiency vs Dz | |—s— DQM_TT__mkFit-DQM_mod-127

N 0.0]
o

.....................................................................

%.009F
5
£.008f
‘© o
9.007F
o o
0.006f-
0.005F
0.004f
0.003F
0.002f
0.001F
fe q'_z
T B
@ C
0.5F

20 =10 0 10 20 30
TP dz (cm)

—— DQM_TT__mkFit-DQM_mod_updatedmod-127



	Contents
	Page 1


